
Quest ce que le cadeau  B' - ? ( )Quel nombre se trouve dans chaque cadeau?
12 × 7 = 2 × 3 = 12 × 3 =2 × 6 = 3 × 5 = 5 × 3 =3 × 7 = 12 × 5 = 12 × 10 =7 × 2 = 8 × 6 = 4 × 5 =7 × 3 = 8 × 5 = 2 × 7 =5 × = 40 6 × = 48 12 × = 485 × = 35 9 × = 63 5 × = 253 × = 27 5 × = 45 10 × = 4011 × = 88 11 × = 121 11 × = 229 × = 27 8 × = 64 7 × = 63× 11 = 88 × 12 = 144 × 8 = 40× 12 = 144 × 9 = 72 × 10 = 100× 12 = 60 × 7 = 14 × 2 = 18× 3 = 33 × 10 = 30 × 12 = 72× 12 = 36 × 12 = 60 × 9 = 27
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Quest ce que le cadeau  B  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
12 × 7 = 84 2 × 3 = 6 12 × 3 = 362 × 6 = 12 3 × 5 = 15 5 × 3 = 153 × 7 = 21 12 × 5 = 60 12 × 10 = 1207 × 2 = 14 8 × 6 = 48 4 × 5 = 207 × 3 = 21 8 × 5 = 40 2 × 7 = 145 × 8 = 40 6 × 8 = 48 12 × 4 = 485 × 7 = 35 9 × 7 = 63 5 × 5 = 253 × 9 = 27 5 × 9 = 45 10 × 4 = 4011 × 8 = 88 11 × 11 = 121 11 × 2 = 229 × 3 = 27 8 × 8 = 64 7 × 9 = 638 × 11 = 88 12 × 12 = 144 5 × 8 = 4012 × 12 = 144 8 × 9 = 72 10 × 10 = 1005 × 12 = 60 2 × 7 = 14 9 × 2 = 1811 × 3 = 33 3 × 10 = 30 6 × 12 = 723 × 12 = 36 5 × 12 = 60 3 × 9 = 27
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